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1. Which one number is wrong in the given
series?
oer ieF& ëe=bKeuee ceW keâewve-meer mebKÙee ieuele nw?
225, 256, 121, 289, 324
(a) 225 (b) 256 (c) 121 (d) 324

2. Find out the false date of birth in the given
responses.
efoÙes ieÙes efJekeâuheeW ceW mes ieuele pevceefleefLe keâes %eele keâerefpeS~
1. 15-02-1969 2. 16-03-1969
3. 18-04-1969 4. 30-01-1969
5. 31-02-1970 6. 31-12-1969
(a) 4 (b) 6 (c) 3 (d) 5

3. If 5 and 8, 3 and 9, 2 and 6 and 1 and 4 exchange
their values, what will be the value of 365419?
Ùeefo 5 Deewj 8, 3 Deewj 9, 2 Deewj 6 Deewj 1 Deewj 4 Dehevee ceeve
yeoueW lees 365419 keâe ceeve keäÙee nesiee?
(a) 928143 (b) 928413 (c) 928431 (d) 982143

4. From the given alternatives, select the word
which cannot be formed using the letters of
the given word.
efoS ieÙes efJekeâuheeW ceW mes Gme Meyo keâes ÛegefveS efpemes efoS ieS Meyo
kesâ De#ejeW kesâ ØeÙeesie Éeje veneR yeveeÙee pee mekeâlee~
SHIPMENT
(a) SENT (b) STENT (c) SPENT(d) HIPS

5. In a certain code ‘329’ means ‘GOD IS LOVE’
and ‘927’ means ‘LOVE IS BEAUTIFUL’. What
will be the code for ‘GOD’?
efkeâmeer keâes[ ceW ‘329’ keâe DeLe& nw ‘GOD IS LOVE’, Deewj
‘927’ keâe DeLe& nw ‘LOVE IS BEAUTIFUL’, lees ‘GOD’
keâe keâes[ keäÙee nesiee?
(a) 2 (b) 3 (c) 7 (d) 9

6. Select the missing number from the given
responses.

(a) 8 (b) 13 (c) 4 (d) 12
7. Select the correct combination of

mathematical operations to replace * signs
and to balance the given equation
* efÛevneW keâes yeoueves Deewj efoS ieS meceerkeâjCe keâes meblegefuele keâjves
kesâ efueS ieefCeleerÙe mebef›eâÙee kesâ mener mebÙeespeve keâe ÛeÙeve keâerefpeS~
5 * 3 * 3 * 5 * 0
(a) , , , (b) , , ,
(c) , , , (d) , , ,

8. Going 40 m towards the South of his house,
Ramdev turns left and goes another 10 m. After
turning to the North, he goes 20 m and then
starts walking towards his house. In which
direction is he walking now?
jeceosJe Deheves Iej kesâ oef#eCe ceW 40 ceer Ûeueves kesâ yeeo yeebS cegÌ[keâj
10 ceer Ûeuelee nw~ Gmekesâ yeeo Gòej ceW cegÌ[keâj 20 ceer Ûeuelee nw
Deewj efheâj Deheves Iej keâer Deesj Ûeuelee nw~ Jen efkeâme efoMee ceW Ûeue
jne nw?
(a) North-West/Gòej-heefMÛece (b) North-East/Gòej-hetJe&
(c) South-East/oef#eCe-hetJe& (d) South-West/oef#eCe-heef§ece

9. One statement is givben which is followed by
two assumptions I and II. You have to consider
the statement to be true even if it seems to be
at variance from the commonly known facts.
You are to decide which one of the given
assumptions, if any, follow from the given
statement.
Skeâ keâLeve kesâ Deeies oes ceevÙeleeSb I Deewj II oer ieF& nQ~ Deehekeâes
keâLeve keâes melÙe ceevekeâj efJeÛeej keâjvee nw Ûeens Jes meeceevÙele: %eele
leLÙeeW mes efYevve Øeleerle neslee neW~ Deehekeâes efveCe&Ùe keâjvee nw efkeâ oer
ieF& ceevÙeleeDeeW ceW mes keâewve-meer, Ùeefo keâesF& nes, efveefMÛele ™he mes
efoS ieS keâLeve kesâ DeeOeej hej efvekeâeueer pee mekeâleer nw~
Statement/keâLeve:
“You are hereby appointed as a programmer
with a probation period of one year and your
performance will be reviewed at the end of the
period for confirmation.”
A line in an appointment letter.
“Deehekeâes Skeâ Je<e& keâer heefjJeer#ee DeJeefOe hej Øees«eecej efveÙegkeäle
efkeâÙee peelee nw~ DeJeefOe yeerleves hej mLeeÙeerkeâjCe kesâ efueS Deehekesâ
keâeÙe& efve<heeove keâer meceer#ee keâer peeSieer~”
efveÙegefkeäle he$e ceW Skeâ hebefkeäle~
Assumptions/ceevÙeleeSb :
I. The performance of an individual generally is not

known at the time of appointment.
JÙeefkeäle kesâ keâeÙe&-efve<heeove keâes meeceevÙeleÙee efveÙegefkeäle ØemleeJe kesâ meceÙe
%eele veneR efkeâÙee peelee~

II. Generally an individual tries to prove his worth
during probation period.
JÙeefkeäle meeceevÙeleÙee Deheveer heefjJeer#ee DeJeefOe ceW Deheveer ÙeesiÙelee efmeæ
keâjves keâe ØeÙeeme keâjlee nw~

(a) Only assumption I is implicit.
kesâJeue ceevÙelee I Demhe<š nw

(b) Only assumption II is implicit.
kesâJeue ceevÙeleeSb II Demhe<š nQ
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(c) Both I and II are implicit.
oesveeW ceevÙeleeSb I Deewj II Demhe<š nQ

(d) Neither I nor II is implicit.
keâesF& Yeer ceevÙelee I Deewj II Demhe<š veneR nw

Directions for questions 10 to 12 : Select the related
letter/word/number from the given alternatives.

ØeMve mebKÙee 10 mes 12 lekeâ kesâ efueS efveoxMe : efoÙes ieÙes efJekeâuheeW ceW
mes mebyebefOele De#ej/Meyo/mebKÙee keâes ÛegefveS~
10. Cataract : Eye : Pneumonia : ?

ceesefleÙeeefyebo : DeebKe :: efveceesefveÙee : ?
(a) Brain/ceefmle<keâ (b) Ear/keâeve
(c) Lungs/hesâheâÌ[s
(d) Nerves and limbs/lebef$ekeâe Deewj Debie

11. TTT : 777 : : RRR : ?
(a) 555 (b) 666 (c) 888 (d) 999

12. 6 : 34 :: 9 : ?
(a) 36 (b) 45 (c) 81 (d) 79

Directions for questions 13 to 15 : Find the odd
word/number/letters from the given alternatives.

ØeMve mebKÙee 13 mes 15 lekeâ kesâ efueS efveoxMe : efoÙes ieÙes efJekeâuheeW ceW
mes efJe<ece Meyo/mebKÙee/De#ej ÛegefveS~
13. (a) Jostle/Oekesâuevee (b) Nudge/šneskeâvee

(c) Push/oyeevee (d) Trash/keâÛeje
14. (a) 9 (b) 27 (c) 64 (d) 8
15. (a) OHA (b) PIB (c) JQC (d) RKD
16. Which one of the given responses would be in a

meaningful order of the following words?
efvecve efJekeâuheeW ceW mes keâewve-mee efJekeâuhe veerÛes efoÙes ieÙes MeyoeW keâe
meeLe&keâ ›eâce oMee&Siee?
1. Window/efKeÌ[keâer 2. Foundation/veeRJe
3. Floor/heâMe& 4. Ventilator/jesMeveoeve
5. Roof/Úle
(a) 3, 2, 1, 4, 5 (b) 2, 3, 1, 4, 5
(c) 1, 2, 3, 4, 5 (d) 3, 1, 2, 4, 5

17. Arrange the following words as per their order
in English dictionary.
efvecveefueefKele MeyoeW keâes Deb«espeer MeyokeâesMe ceW efoS ieS ›eâce kesâ
Devegmeej efueKeW~
1. LEAF 2. LEARNED
3. LEAVED 4. LEAK
5. LEADEN
(a) 5, 1, 4, 2, 3 (b) 5, 1, 4, 3, 2
(c) 3, 5, 1, 4, 2 (d) 1, 4, 2, 3, 5

Direction for question 18 and 19 : A series is given
with one term missing. Choose the correct alternative
from the given ones that will complete the series.

ØeMve mebKÙee 18 Deewj 19 lekeâ kesâ efueS efveoxMe : Skeâ Deveg›eâce efoÙee
ieÙee nw, efpemeceW Skeâ heo ueghle nw~ efoÙes ieÙes efJekeâuheeW ceW mes Jen mener
efJekeâuhe ÛegefveS pees Deveg›eâce keâes hetje keâjs~

18. ADG, GJM ?
(a) MOQ (b) MPS (c) NOT (d) WTO

19. 25, 35, 55, ?, 125
(a) 65 (b) 75 (c) 85 (d) 95

20. Two positions of a dice are shown below. When
the heart shape is at the top, which shape will
be at the bottom?
veerÛes Skeâ heebmes keâes oes efmLeefleÙeeW ceW efoKeeÙee ieÙee nw~ peye efoue keâer
Deeke=âefle meyemes Thej nesieer lees meyemes veerÛes keâewve-meer Deeke=âefle nesieer
Question Figures/ØeMve Deeke=âefleÙeeB :

Answer Figures/Gòej Deeke=âefleÙeeB :

21. Among the four answer figures, which figure
can be formed from the pieces to form the
given question figure?
Ûeej Gòej Deeke=âefleÙeeW ceW mes keâewve-meer Deeke=âefle ØeMve Deeke=âefle ceW efoS
ieS šgkeâÌ[eW mes yeveeÙeer pee mekeâleer nw?
Questions Figures/ØeMve Deeke=âefle :

Answer Figures/Gòej Deeke=âefleÙeeB :

22. Identify the answer figure which completes
the question figure.
keâewve-meer Gòej Deeke=âefle ØeMve Deeke=âefle keâes hetje keâjsieer~
Questions Figures/ØeMve Deeke=âefle :

Answer Figures/Gòej Deeke=âefleÙeeB :
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23. A square sheet of paper has been punched
after folding. Its appearance, when opened, is
shown in the question figure. You have to
figure out in which folded position it was
punched.
Skeâ Jeiee&keâej keâeiepe keâes ceesÌ[ves kesâ yeeo Úso efkeâS ieS nQ~ Keesueves
kesâ yeeo Fmekeâer pees Deeke=âefle yeveleer nw Gmes ØeMve Deeke=âefle ceW efoKeeÙee
ieÙee nw~ Deehekeâes yeleevee nw efkeâ keâeiepe ceW efkeâme ceesÌ[er ieF& efmLeefle ceW
Úso efkeâS ieS~
Question Figures/ØeMve Deeke=âefle :

Answer Figures/Gòej Deeke=âefleÙeeB :

24. A word is represented by only one set of
numbers as given in any one of the
alternatives. The sets of numbers given int he
alternatives are represented by two classes of
alphabets as in the matrix given below. The
columns and rows of Matrix-I are numered
from 0 to 4 and that of Matrix-II from 5 to 9. A
letter from the matrix can be represented first
by its row and next by its column, e g. . , ‘D’ can
be represented by 03, 10, etc. and ‘J’ can be
represented by 55, 67, etc. Similarly, you have
to identify the set for the word ‘BLACK’.
Skeâ Meyo kesâJeue Skeâ mebKÙee-mecetn Éeje oMee&Ùee ieÙee nw, pewmee
efkeâ efJekeâuheeW ceW mes efkeâmeer Skeâ ces efoÙee ieÙee nw~ efJekeâuheeW ceW efoS
ieS mebKÙee mecetn, De#ejeW kesâ oes JeieeX Éeje oMee&S ieS nQ, pewmee efkeâ
veerÛes efoS ieS cewefšk̂eäme ceW nw~ cewefšk̂eäme-I kesâ mlecYeeW Deewj hebefòeâÙeeW
keâer mebKÙee 0 mes 4 oer ieF& nw Deewj cewefšk̂eäme-II keâer 5 mes 9~
cewefšk̂eäme mes Skeâ De#ej keâes henues Gmekeâer hebefkeäle Deewj efheâj mlecYe
mebKÙee Éeje yeleeÙee pee mekeâlee nw~ GoenjCe kesâ efueS ' 'D  keâes 03,
10 Deeefo Éeje yeleeÙee pee mekeâlee nw leLee ' 'J  keâes 55, 67, Deeefo
Éeje yeleeÙee pee mekeâlee nw~ Fmeer lejn mes Deehekeâes Meyo kesâ efueS
mebKÙee mecetn ‘BLACK’ keâes henÛeevevee nw~

Matrix-I Matrix-II

0 1 2 3 4 5 6 7 8 9

0 A B C D E 5 J K L M N

1 D B A E C 6 L M J K N

2 C A D B E 7 N J L K M

3 B D E C A 8 M L N K J

4 E B C A D 9 K N M J L

(a) 11, 66, 57, 20, 76 (b) 20, 76, 12, 57, 66
(c) 66, 12, 20, 11, 57 (d) 11, 65, 12, 20, 56

25. Which one is the water image of the given
question figure?
oer ieF& ØeMve Deeke=âefle keâe peue Øeefleefyebye keäÙee nesiee?
Question Figure/ØeMve Deeke=âefle :

Answer Figure/Gòej Deeke=âefle :

 General Awareness
26. Which of the following is the highest peak of

South India?
efvecveefueefKeefle ceW mes oef#eCe Yeejle keâer meyemes TBÛeer Ûeesšer keâewve-meer
nw?
(a) Anai Mudi/  DeveeFceg[er
(b) Doda Betta/  oesoeyesše
(c) Guru Shikhar/  ieg®efMeKej
(d) Mehendragiri/  censvõefieefj

27. Between which two mountain ranges is the
Valley of Kashmir situated?
efkeâve oes heJe&le ßesefCeÙeeW kesâ ceOÙe keâMceerj Ieešer efmLele nw?
(a) Ladakh and Zanskar /ueöeKe Je pebmkeâj
(b) Great HImalayas and Pir Panjal/ Je=nle efnceeueÙe Je heerj

hebpeeue
(c) Great Himalayas and Zanskar / Je=nled efnceeueÙe Je

pebmkeâj
(d) Karakoram and Ladakh  / keâejekeâesjce Je ueöeKe

28. When was the 'Central Ganga Authority'
established in India?
Yeejle ceW ‘kesâvõerÙe iebiee ØeeefOekeâjCe’ keâer mLeehevee keâye keâer ieF& Leer?
(a) 1998 (b)1972 (c) 2001 (d) 1985

29. Which gas is known as 'Noble gas'?
keâewve-meer iewme veesyeue iewme keânueeleer nw?
(a) Hydrogen/ neF[^espeve
(b) Oxygen/ Dee@keämeerpeve
(c) Helium/ nerefueÙece
(d) Carbon dioxide/ keâeye&ve [eF& Dee@keämeeF[

30. Mammals respires by -
mleveOeeefjÙeeW ceW Õemeve neslee nw-
(a) Gills/ keäueesce Éeje
(b) Trachea/ Õeemeveueer Éeje
(c) Skin/ lJeÛee Éeje
(d) Lungs/ hegâmhegâme (hesâheâÌ[eW) Éeje
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31. The liquid/ liquids used  in simple barometer is
meeOeejCe yewjesceeršj ceW keâewve-mee õJe ØeÙeesie nesles nw?
(a) Water/ »eue
(b) Mercury/ heeje
(c) Alcohal/ Ssukeâesnue
(d) All of the above / GheÙeg&òeâ meYeer

32. Tropic level - I includes-
ØeLece hees<ekeâ mlej kesâ Devleie&le Deeles nw?
(a) Herbivorous animals/ Meekeâenejer pevleg
(b) Carnivorous animals/ ceemeebnejer pevleg
(c) Omnivorous animals/ meJe&Ye#eer pevleg
(d) Green Plants/ nefjle heeohe

33. Which of the following states recorded the
lowest population density in Census, 2011?
efvecveefueefKele ceW mes efkeâme jepÙe ceW Je<e& 2011 keâer peveieCevee ceW
meyemes keâce pevemebKÙee IevelJe ope& efkeâÙee ieÙeew?
(a) Mizoram/ efcepeesjce
(b) Arunachal Pradesh/ De™CeeÛeue ØeosMe
(c) Sikkim/ efmeefkeäkeâce
(d) Nagaland/ veeieeuewC[

34. Shooting World Cup, 2017 will be held in —
2017 keâe Metefšbie efJeÕe keâhe nesiee—
(a) Japan (b) China
(c) India (d) Sri Lanka

35. Which institution has been called as 'caged
parrot?
efkeâme mebmLee keâes ‘efhebpejs ceW yebo leeslee’ keâne ieÙee nw?
(a) Central Vigilance Commission (CVC)/ kesâvõerÙe

meleke&âlee DeeÙeesie (meer.Jeer.meer.)
(b) Press Trust of India (PTI)/ Øesme š^mš Dee@heâ FefC[Ùee

(heer.šer.DeeF&)
(c) Central Bureau of Investigation (CBI)/ kesâvõerÙe peeBÛe

DeeÙeesie (meer.yeer.DeeF&)
(d) Border Security Force (BSF) / meercee megj#ee yeue

(yeer.Sme.Sheâ)
36. Mahatma  Gandhi National Rural

Empoloyment Guarantee Act was Passed in—
cenelcee ieeBOeer je<š̂erÙe «eeceerCe jespeieej ieejCšer DeefOeefveÙece heeefjle
ngDee Lee —
(a) 2004 (b) 2005 (c) 2007 (d) 2010

37. Which web browser was developed by Google?
ietieue ves efkeâme Jesye  yeÇeGpej keâes efJekeâefmele efkeâÙee Lee?
(a) Internet explorer / Fbšjvesš Skeämehueesjj
(b) Firefox/ heâeÙejheâe@keäme
(c) Safari/ meheâejer
(d) Chrome / ›eâesce

38. Where is the Mausoleum of Sher Shah
situated?
MesjMeen keâe cekeâyeje keâneB nw?

(a) Sasaram/ meemeejece
(b) Delhi/ efouueer
(c) Kalinjar/ keâeefuepebj
(d) Sonargaon/ meesveejieeBJe

39. Scientific socialism is attributed to—
Jew%eeefvekeâ meceepeJeeo keâe ßesÙe peelee nw—
(a)  Karl Marx/ keâeue& ceekeäme& keâes
(b) Adam Smith/ Ss[ce efmceLe keâes
(c) J.M. Keynes/ pes.Sce. keâervme keâes
(d) Thomas Mann/ Leece@me ceeve keâes

40. Who of the following was associated with the
Chittagaon Armoury Raid?
ÛešieeBJe Deece&jer js[ mes FveceW mes keâewve mecyeefvOele Lee?
(a)  Surya Sen/ metÙe& mesve
(b) Bhagat Singh/ Yeiele efmebn
(c) Ram Prasad Bismil/ jece Øemeeo efyeefmceue
(d) Ashfaqullah/ DeMeheâekeâ Guueen

41. Which one of the following is irrelevant in the
context of share market ?
efvecveefueefKele ceW mes keâewve-mee MesÙej yeepeej kesâ meboYe& ceW DeØeemebefiekeâ
nw?
(a) Sensex/ mesvmeskeäme (b) BSE/ yeer.Sme.F&
(c) Nifty / efveheäšer (d) SAPS / mewhme

42. Ibadatkhana at Fatehpur Sikri was—
heâlesnhegj meerkeâjer keâe FyeeoleKeevee keäÙee Lee—
(a) The mosque for the use of Royal family/ jepe heefjJeej

kesâ Fmlesceeue kesâ efueS ceefmpeo
(b) Akbar's private prayer chamber/ Dekeâyej keâe efvepeer

ØeeLe&vee keâ#e
(c) The hall in which Akbar held discussions with

scholars of various religions/ Jen YeJeve efpemeceW efJeefYeVe
OeceeW& kesâ efJeÉeveeW kesâ meeLe Dekeâyej ÛeÛee& keâjlee Lee

(d) The room in which the nobles belonging to
different religions gathered to discuss religious
affairs/Jen keâceje efpemeceW efJeefYeVe Oece& Jeeues kegâueervepeve Oeeefce&keâ
yeeleeW kesâ efJeÛeejeLe& pecee nesles Les

43. With reference to the cultural history of India,
the term 'Panchayatan' refers to—
Yeejle kesâ meebmke=âeflekeâ Fefleneme kesâ mevoYe& ceW ‘hebÛeeÙeleve’ Meyo efkeâmes
efveefo&° keâjlee  nw?
(a) An assembly of village elders/ «eece kesâ pÙes-peveeW keâer

meYee
(b) A religious seat/ Oeeefce&keâ mecØeoeÙe
(c) A style of temple construction/ ceefvoj jÛevee-Mewueer
(d) An adminstrative functionary/ ØeMeemeefvekeâ DeefOekeâejer

44. The most important strategy for the
conservation of biodiversity together with
toladitional human life is the establishment
of—
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pewJe- efJeefJeOelee kesâ meeLe-2 ceveg<Ùe kesâ hejchejeiele peerJeve kesâ
mebj#eCe kesâ efueS meyemes cenlJehetCe& jCeveerefle efvecveefueefKele ceW mes
efkeâme Skeâ keâer mLeehevee keâjves ceW efveefnle nww?
(a) BBiosphere Reserves/ peerJeceC[ue Deejef#ele (efjpeJe&)
(b) Botanical  Gardens/ Jeevemheeflekeâ GÅeeve
(c) National Parks/ je<š^erme GheJeve
(d) Widlife Sancturies / JevÙepeerJe DeYeÙeejCme

45. Turkey is located between
škeâea efkeâvekesâ ceOÙe efmLele nw ?
(a) Black sea and Caspian sea/keâeuee meeiej Deewj kewâefmheÙeve

meeiej
(b) Black sea and Mediterranean sea/ keâeuee meeiej Deewj

YetceOÙe meeiej
(c) Gulf of Suez and Mediterranean sea/ mJespe keâer KeeÌ[er

DeewjYetceOÙe meeiej
(d) Gulf of Aqaba and dead sea/ Dekeâeyee keâer KeeÌ[er Deewj ce=le

meeiej
46. Which one of the following  Shedules of the

Constitution of India contains providsions
regarding anti-defection ?
Yeejle kesâ meefJeOeeve keâer efvecveefueefKele ceW mes keâewv-meer Skeâ DevegmetÛeer
ceW oue-yeoue efJejesOe efJe<eÙekeâ GheyevOe nw?
(a) Second Schedule/ otmejer DevegmetÛeer
(b) Fifth Schedule / heebÛeJeer DevegmetÛeer
(c) Eighth Schedule/ Dee"JeeR DevegmetÛeerieVee
(d) Tenth Schedulet/ omeJeeR DevegmetÛeer

47 The National Motto of India, 'Satyameva
Jayate' inscribed below the Emblem of India is
taken from
Yeejle kesâ mecØeleerkeâ kesâ veerÛes GlkeâerCe& Yeejle keâer je<šêrÙe DeeoMexefòeâ
‘melÙecesJe peÙesles keâneB mes ueer ieF&
(a) Katha Upnishad/ keâ" Gheefve<eod
(b) Chndogya Upanishad/ ÚeboesiÙe Gheefve<eod
(c) Aitareya Upanishad/ SslejsÙe Gheefve<eo
(d) Mundaka Upanishad/ cegb[keâ Gheefve<eod

48 Lichens, which are capable of intiating
ecological succession even on a bare rock, are
actuially a symbiotic asociation of-
ueeFkesâve, pees Skeâ veive Ûeóeve hej Yeer heeefjefmLeeflekeâ Deveg›eâce keâes
ØeejcYe keâjves ceW me#ece nw, JeemleJe ceW efkeâvekesâ menpeerJeer menÛeÙe& nw?
(a) Algae and Bacteria/ MewJeeue Deewj keâJekeâ
(b) Algae and fungi/ peerJeeCeg Deewj keâJekeâ
(c) Bacteria and Fungi/ peerJeeCeg Deewj keâJekeâ
(d) Fungi and Mosses/ keâJekeâ Deewj cee@me

49. The sales tax you pay while purchasing a
toothpaste is a—
efJe›eâÙe-keâj, efpemekeâe Yegieleej Deehe keâesF& štLehesmš Kejeroles meceÙe
keâjles nQ, efvecveefueefKele ceW mes efkeâme Øekeâej keâe keâj nw?
(a) Tax imposed by the cental government

kesâvõ mejkeâej Éeje Deejesefhele keâj

(b) Tax imposed by the central government but
collected by the state government
kesâvõ mejkeâej Éeje Deejesefhele efkeâvleg jepÙe mejkeâej Éeje meb«enerle keâj

(c) Tax imposed by the state government but collect
by the central government
jepÙe mejkeâej Éeje Deejesefhele efkeâvleg kesâvõ mejkeâej Éeje meb«enerle keâj

(d) Tax imposed and collected by the state
government
jepÙe mejkeâej Éeje Deejesefhele SbJe meb«eefnle keâj

50. Which commietee has  recently submitted its
final report on digital payments to Union
Government ?
efkeâme keâcesšer ves neue ceW ner kesâvõ mejkeâej keâes ef[efpešue Yegieleeve keâer
Deefvlece efjhees&š Øemlegle keâer nw
(a) H.R Khan committee
(b) Ratan Watal committee
(c) Indrajeet Sarkar committee
(d) Salil kapoor committee

 Maths
51. If x ab

a b
, then find the value of

x a
x a

x b
x b

2
2

2
2

Ùeefo x ab
a b

, leye x a
x a

x b
x b

2
2

2
2

 keâe ceeve %eele

keâerefpeS~
(a) 2 (b) 1 (c) 2a (d) 2b

52. If a + b + c = 4 and ab + bc + ca = —2, then
( ) ( ) ( ) ?a b b c c a2 2 2

Ùeefo a b c 4 Deewj ab bc ca —2, lees
( ) ( ) ( ) ?a b b c c a2 2 2

(a) 30 (b) 45 (c) 46 (d) 36
53. If cos

tan
,ec 1 5  then the value of sin

cos
 is —

Ùeefo cos
tan

,ec 1 5  lees sin
cos

 keâe ceeve nQ—

(a) 3 (b) 12
5

(c) 5
12

(d) 4

54. Find the value of 1
10

3
10sin cos

.

1
10

3
10sin cos

 keâe ceeve %eele keâerefpeS~

(a) 2 (b) 4 (c) 5 (d) 6
55. ABC is an isosceles triangle in which AB = BC

and A B AB2 4,  cm. What is the ratio of,
inradius to the circumradius ?
ABC Skeâ meceefÉyeeng ef$eYegpe nw~ efpemeceW AB AC Deewj
A B AB2 4,  mesceer. lees efoÙes ieÙes ef$eYegpe kesâ DevleŠ Je=òe

leLee heefjJe=òe keâer ef$epÙeeDeeW keâe Devegheele nQ—
(a) 1 : 2 (b) 2 1 1:
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(c) 1 2 2 1:( ) (d) None of these
56. In a ABC, O is the circumcentre, BAC 75

and BCA 85 . Find the value of OAC.
efoÙes ieÙes ef$eYegpe ceW O heefjkesâvõ nw~ BAC 75   Deewj
BCA 85  lees, OAC keâe ceeve nw~

(a) 40° (b) 70° (c) 85° (d) 75°
57. If BC = 14 cm, AB = 15 cm, EC = 8 cm and FD = 8

cm then the area of the shared portion is —
Ùeefo BC 14 mesceer., AB 15 mesceer, EC 8 mesceer Deewj
FD 8 mesceer lees efÛe$e ceW ÚeÙeeefkebâle Yeeie keâe #es$eheâue nQ—

(a) 123 cm2 (b) 143 cm2

(c) 210 cm2 (d) 133 cm2

58. The top of two poles of height 40 m and 52 m
are connected by a wire. If the wire makes an
angle of 60° with the horizontal, the length of
the wire is —
40 ceer. leLee 52 ceer. TBÛes oes KecYeeW kesâ Meer<eeX keâes Skeâ leesj mes
pees[e peelee nw~ Ùeefo leej #eweflepe mes 60  keâe keâesCe yeveelee nQ, leye
leej keâer uecyeeF& nw—
(a) 8 3 m (b) 8 m (c) 16 3 m (d) 16 m

59. One man flies a kite with 300 meter long
thread. If the thread of the kite makes an angle
of 60  with the horizontal line, then the height
of the kite from ground (assuming the thread
to be in a straight line) is —
Skeâ Deeoceer ves efkeâmeer helebie keâes 300 ceer. uecyes Oeeies mes G[elee nw~
helebie keâe Yetefce mes GvveÙeve keâesCe 60  nw leye helebie keâe Yetefce mes
TBÛeeF& yeleeÙes (ceevee efkeâ Oeeiee levee ngDee nw)—
(a) 300 3 m (b) 150 3 m
(c) 200 m (d) 400 m

60. Two men start together to walk a certain
distance, one at 8 km/h and another at 6 km/h.
The former arrives half an hour before the
later. Find the distance.
oes Deeoceer Skeâ ner efveefMÛele otjer keâes leÙe keâjves kesâ efueÙes Skeâ ner
meceÙe ›eâceMeŠ 8 efkeâceer/Iebše leLee 6 efkeâceer/Iebše keâer ieefle mes Ûeueles
nw~ henues Jeeuee otmejs mes DeeOee IeCše henues hengBÛe peelee nw~
efveefMÛele otjer yeleeDees~
(a) 24 km (b) 12 km (c) 10 km (d) 15 km

61. On 20% increase in the radius of the cylinder,
what percent should be reduced in height so
that there is no increase in its volume ?
efkeâmeer yesueve keâer ef$epÙee ceW 20% keâer Je=efæ keâer peeleer nw~ lees TBÛeeF&
ceW efkeâleves ØeefleMele keâer keâceer keâer peeÙes leeefkeâ Gmekesâ DeeÙeleve ceW keâesF&
Je=efæ ve nes~

(a) 40% (b) 30% (c) 30 5
9

% (d) 30 9
5

%

62. The base perimeter of a perpendicular cone is
12 cm. If height of this cone is 24 cm, then find
its volume.
Ùeefo Skeâ uecye Je=òeerÙe Mebkegâ kesâ DeeOeej keâe heefjceehe 12 mesceer. nw~
Ùeefo Mebkegâ keâer TBÛeeF& 42 mesceer nw, lees Gmekeâe DeeÙeleve %eele
keâerefpeS~
(a) 162.32 cm3 (b) 155.56 cm3

(c) 210cm3 (d) 160.36 cm3

63. If the ratio of cost price to selling price is 12 :
15, then the rate of percent of profit is —
Ùeefo ueeiele cetuÙe Deewj efyeÇkeâer cetuÙe keâe Devegheele 12 15:  nw, lees
ueeYe ØeefleMele oj keäÙee nesieer~
(a) 20% (b) 16 2

3
% (c) 25% (d) 30%

64. Ih how many years will a sum of money double
itself at 14 2

7
% rate of simple interest per

annum ?

efkeâleves Je<e& 14 2
7

% Jeeef<e&keâ meeOeejCe yÙeepe keâer oj mes keâesF&

OevejeefMe mJeÙeb keâer ogiegveer nes peeÙesieer~
(a) 7 years (b) 8 years
(c) 6 years (d) 14 years

65. In one glass, milk and water are mixed in the
ratio 4 : 5 and in another glass they are mixed
in ratio 2 : 7. In what ratio should the content
of the two glasses be mixed together so that,
new mixture contains milk and water in the
ratio 1 : 2 ?
Skeâ efieueeme ceW otOe Deewj heeveer keâes 4 5:  kesâ Devegheele ceW efceueeÙee
peelee nw Deewj otmejs efieueeme ceW FvnW 2 7:  kesâ Devegheele ceW efceueeÙee
peelee nw~ veÙes efceßeCe ceW oesveeW efieueemeeW kesâ õJeeW keâes efkeâme Devegheele
ceW efceueeÙes peeÙes leeefkeâ otOe Deewj heeveer keâe Devegheele 1 2:  nes peeÙes~
(a) 4 : 5 (b) 5 : 4 (c) 7 : 2 (d) 1 : 1

66. A : B is 5 : 3, B : C is 6 : 11, then A : B : C is —
Ùeefo A B B C: : , : :5 3 6 11 lees A B C: :  %eele keâjes~
(a) 20 : 21 : 22 (b) 10 : 6 : 11
(c) 6 : 11 : 3 (d) 5 : 3 : 11

67. A and B together can do a piece of work in 5
days. If B alone can do the work in 15 days,
then the number of days required for A to
finish the work is —
A Deewj B efceuekeâj efkeâmeer keâece keâes 5 efoveeW ceW keâj mekeâles nw~ Ùeefo
BDekesâues keâece keâes 15 efoveeW ceW keâj mekeâlee nw, lees A Dekesâues keâece
keâes efkeâleves efoveeW ceW meceehle keâjsiee~
(a) 7 1

2
 days (b) 7 days

(c) 8 days (d) 9 days
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68. 999 1
7

999 2
7

999 3
7

999 4
7

999 5
7

999 6
7

 is

equal to :

999 1
7

999 2
7

999 3
7

999 4
7

999 5
7

999 6
7

kesâ

yejeyej nw~
(a) 2994 (b) 2997 (c) 5994 (d) 5997

69. The average marks scored by the students of a
class is 68. The average marks of the girls in
the class is 80 and of the boys is 60. What is the
ratio of girls and boys in the class ?
efkeâmeer keâ#ee kesâ efJeÅeeefLe&ÙeeW kesâ Debkeâes keâe Deewmele 68 nw~ Úe$eeDeeW
kesâ DebkeâeW keâe Deewmele 80 nw~ leLee Úe$eeW kesâ Debkeâes keâes Deewmele 60
nw~ lees keâ#ee ceW Úe$eeDeeW leLee Úe$eeW keâe Devegheele keäÙee nw~
(a) 2 : 3 (b) 3 : 2 (c) 1 : 2 (d) 4 : 3

70. The ratio of the number of boys and girls in a
school is 4 : 5. If 25% of the boys and 40% of the
girls are scholarship holders, the percentage
of students who are not scholarship holders is
Skeâ efJeÅeeueÙe ceW ue[kesâ leLee ue[efkeâÙeeW keâer Devegheele 4 5: nw~ Ùeefo
25% ue[kesâ leLee 40% ue[efkeâÙeeW keâes Úe$eJe=ef$e efceueleer nw, lees
Úe$eJe=efòe veneR heeves Jeeues Úe$eeW keâe ØeefleMele keäÙee nw~
(a) 331

3
% (b) 66 2

3
% (c) 65% (d) 68%

Directions for questions 71 to 74 : Study the following
graph carefully and answer the questions given below
it.

ØeMve mebKÙee 71 mes 74 kesâ efueS efveoxMeŠ veerÛes efoS ieS «eeheâ keâe
OÙeevehetJe&keâ DeOÙeÙeve keâerefpeS Deewj veerÛes efoS ØeMveeW kesâ Gòej oerefpeS~

Target and Actual production of Cricket balls in a
sports industry (in lakhs)

Skeâ Kesue keâcheveer ceW efkeâ›esâš-yee@ueeW keâe ue#Ùe Deewj JeemleefJekeâ
Glheeove (ueeKeeW ceW)

71. What was the difference between target set
and the actual production for the year 2000
—01 ?
Je<e& 2000—01 ceW efveOee&efjle ue#Ùe Deewj JeemleefJekeâ Glheeove ceW
keäÙee Devlej Lee~
(a) 40,00000 (b) 60,00000
(c) 80,00000 (d) 50,00000

72. The actual production of cricket balls, in 2001
—02 was how many times of the targeted
production set for that year ?
Je<e& 2001 —02 ceW ef›eâkesâš ieWoeW keâe JeemleefJekeâ Glheeove, ue#Ùe
Glheeove ceW efkeâleves iegCee Lee~
(a) 1.14 (b) 1.53 (c) 0.875 (d) 0.115

73. What is the number of years in which actual
production was above to the target production
of the cricket balls ?
Gve Je<eeX keâer mebKÙee efkeâleveer nw, efpeveceW ef›eâkesâš ieWoeW keâe JeemleefJekeâ
Glheeove, efveOee&efjle ue#Ùe Glheeove mes pÙeeoe Lee~
(a) 3 (b) 4 (c) 1 (d) 2

74. The actual production of cricket balls in year
2001 —01 was how many percent of targeted
production in year 1999 — 90 ?
ef›eâkesâš ieWoeW keâe 2000 — 01 ceW JeemleefJekeâ Glheeove, Je<e& 1999
—00 ceW efveOee&efjle Glheeove keâe efkeâlevee ØeefleMele Lee~
(a) 52.65% (b) 56.52%
(c) 55.26% (d) 40.6%

75. If each edge of a cube is increased by 50%, then
find the percentage increase in surface area.
Ùeefo Skeâ Ieve keâer ØelÙeskeâ Yegpee keâes 50% ye{e efoÙee peeÙes, leye
Gmekesâ he=‰ #es$eheâue ceW ØeefleMele Je=efæ %eele keâerefpeS~
(a) 105% (b) 125% (c) 145% (d) 150%

 English
Direction for question 76 to 78 : In each of the
following question, one part of the sentence has an
error and the other parts of the sentence are correct.
Find out which part of the sentence has an error and
mark that part as your answer out of (a), (b) and (c). If a
sentence is free from error, then choose your answer
as choice (d).
76. If a person studies (a)/this period of history, he

(b)/would have wondered how such things had
happened in India. (c)/No error (d)

77. Any of these (a)/two boys is (b)/your brother.
(c)/No error (d)

78. Can I (a)/lend your laptop (b)/for a minute,
please?(c)/No error (d)

Direction for questions 79 to 81 : Sentences are given
with blanks to be filled in with an appropriate word(s).
Four alternatives are suggested for each question.
Choose the correct alternative out of the four.
79. Many a man ……… died of cancer.

(a) have (b) was (c) have been (d) has
80. The shepherd was looking after the ……… of

sheep.
(a) crew (b) flock (c) gang (d) fleet

81. If a speech is full of pompous words, it is ………
(a) verboten (b) vague
(c) grandiloquent (d) impressive
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Direction for questions 82 to 83 : Out of the four
alternatives, choose the one which best expresses the
meaning of the given word.
82. Spurn

(a) Support (b) Approve
(c) Decline (d) Acquiesce

83. Catastrophe
(a) Resurgence (b) Corker
(c) Smash (d) Apocalypse

Directions for questions 84 to 85 : Out of the four
alternatives, choose the word opposite in meaning to
the given word.
84. Perplex

(a) Confound (b) Streamline
(c) Muddle (d) Snarl

85. Patronize
(a) Foil (b) Further
(c) Preach (d) Espouse

Direction for questions 86 to 88 : Four alternativs are
given for the Idiom/Phrase underlined int he sentence.
Choose the alternative which best expresses the
meaning of the Idiom/Phrase.
86. Ranveer spilled a few beans about his early

days in tinsel town.
(a) to remember
(b) to make a better impression
(c) to happy
(d) to give information

87. Your promotion is on the cards.
(a) certain (b) due
(c) evident (d) probable

88. He came to meet me when I was in the dumps.
(a) in high spirits (b) relaxed and confident
(c) in a sad mood
(d) feel in difficult situation

Direction for questions 89 to 91 : A part of the
sentence is underlined. Below are given alternatives
to the underlined part at (a), (b), (c) which may improve
the sentence. Choose the correct alternative. In case
no improvement is required, your answer is (d).
89. We can buy anything in this shop, can we?

(a) isn’t it? (b) can’t we?

(c) don’t we? (d) No improvement
90. Jatin is not only a good doctor but a good man.

(a) instead also (b) but seldom
(c) but also (d) No improvement

91. I refused the invitation not because I did not
want to go but because I have no time.
(a) will have (b) had
(c) didn’t had (d) No improvement

Direction for questions 92 to 94 : Out of the four
alternatives, choose the one which can be substituted
for the given words/sentence.
92. One who enjoys inflicting pain of himself.

(a) Cannibal (b) Escapist
(c) Sceptic (d) Masochist

93. Piece of writing full of praise.
(a) Cajole (b) Panegyric
(c) Article (d) Venue

94. Substance used in palce of sugar.
(a) Nuance (b) Senile
(c) Saccharin (d) Insecticide

Direction for question 95 : Four words are given in a
question, out of which only one word is correctly
spelt. Find the correctly spelt word.
95. (a) Propellar (b) Propeler

(c) Propeller (d) Propelre
Directions for question 96 to 100 : In the following
passage some of the words have been left out. Read
the passage carefully and choose the correct answer
to each question out of the four alternatives and fill in
the blanks

 Cloze Test
Arabia is a 21 sandy desert; At day time, the sand

becomes fiery. There are springs here and there 22 where
grass, fig and palm trees grow and make a cool, shady 23
where the Arabs live in easily movable tents. They move
from place to place in 24 of food. They load the 25 and
move for miles as if he is ship of the desert.
96. (a) narrow (b) vast (c) great (d) broad
97. (a) around (b) below (c) above (d) across
98. (a) garden (b) park (c) oasis (d) pond
99. (a) want (b) search (c) lack (d) shortage
100.(a) horse (b) donkey (c) camel (d) cattle
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